### OWNER: VILLAGE OF LINCOLN HEIGHTS

### PROJECT NO.: 220626

# BID OPENING DATE: APRIL 4, 2023 at 10:00 A.M.

### **BID TABULATION**

					Engineer's Estimate			velopment	Fred A. Nemann		Prus Construction		Sunesis Construction	
Ref No.	Item No.	Description	Quan.	Unit	Unit Cost Total	Item Cost	Unit Cost Total	Item Total	Unit Cost Total	Item Total	Unit Cost Total	Item Total	Unit Cost Total	Item Total
		CHAMBERLAIN AVENUE												
1	202	INLET REMOVED	17	EA	\$600.00	\$10,200.00	\$50.00	\$850.00	\$500.00	\$8,500.00	\$530.00	\$9,010.00	\$2,575.00	\$43,775.00
2	202	MANHOLE REMOVED	3	EA	\$1,500.00	\$4,500.00	\$100.00	\$300.00	\$500.00	\$1,500.00	\$950.00	\$2,850.00	\$1,175.00	\$3,525.00
3	202	PIPE REMOVED, 24" AND UNDER	381	FT	\$25.00	\$9,525.00	\$1.00	\$381.00	\$15.00	\$5,715.00	\$18.00	\$6,858.00	\$24.00	\$9,144.00
4	202*	PIPE REMOVED, 24" AND UNDER	650	FT	\$25.00	\$16,250.00	\$1.00	\$650.00	\$5.00	\$3,250.00	\$20.00	\$13,000.00	\$24.00	\$15,600.00
5	202	CURB REMOVED	5,360	FT	\$5.00	\$26,800.00	\$2.00	\$10,720.00	\$9.00	\$48,240.00	\$6.00	\$32,160.00	\$9.35	\$50,116.00
6	202	WALK REMOVED	16,654	SF	\$2.50	\$41,635.00	\$0.50	\$8,327.00	\$3.00	\$49,962.00	\$3.00	\$49,962.00	\$2.05	\$34,140.70
7	204	REMOVE CONRETE BLOCKOUT AT INLET AND PREPLACE WITH 8" 301	18	EA	\$1,000.00	\$18,000.00	\$25.00	\$450.00	\$500.00	\$9,000.00	\$525.00	\$9,450.00	\$471.00	\$8,478.00
8	204	PAVEMENT REMOVED, AS PER PLAN	6,130	SY	\$12.00	\$73,560.00	\$67.00	\$410,710.00	\$23.60	\$144,668.00	\$16.50	\$101,145.00	\$25.75	\$157,847.50
9	204	SUBGRADE COMPACTION	6,130	SY	\$2.50	\$15,325.00	\$1.00	\$6,130.00	\$10.00	\$61,300.00	\$2.50	\$15,325.00	\$8.00	\$49,040.00
10	204	PROOFROLLING	12	HR	\$250.00	\$3,000.00	\$50.00	\$600.00	\$200.00	\$2,400.00	\$120.00	\$1,440.00	\$320.00	\$3,840.00
11	204*	SUBGRADE STABILIZATION WITH GEOGRID AND GRANULAR (1' DEEP)	2,200	SY	\$6.50	\$14,300.00	\$30.00	\$66,000.00	\$15.00	\$33,000.00	\$49.00	\$107,800.00	\$86.50	\$190,300.00
12	204*	CEMENT STABILIZED SUBGRADE, (12 INCHES DEEP)	3,065	SY	\$4.50	\$13,792.50	\$10.00	\$30,650.00	\$15.00	\$45,975.00	\$60.00	\$183,900.00	\$181.50	\$556,297.50
13	253*	PAVEMENT REPAIR	20	SY	\$90.00	\$1,800.00	\$90.00	\$1,800.00	\$271.00	\$5,420.00	\$200.00	\$4,000.00	\$171.50	\$3,430.00
14	253*	SUBGRADE REPAIR, MISC.: SLAG STABILIZATION, INCLUDING REMOVAL OF UNCLASSIFIED MATERIAL AND CHOKE WITH 3" - 304	100	CY	\$150.00	\$15,000.00	\$80.00	\$8,000.00	\$100.00	\$10,000.00	\$150.00	\$15,000.00	\$258.75	\$25,875.00
15	254	PAVEMENT PLANING, ASPHALT CONCRETE (3")	1,170	SY	\$20.00	\$23,400.00	\$9.00	\$10,530.00	\$10.00	\$11,700.00	\$16.50	\$19,305.00	\$22.50	\$26,325.00
16	301	7" ASPHALT BASE	1,190	CY	\$225.00	\$267,750.00	\$167.00	\$198,730.00	\$223.00	\$265,370.00	\$300.00	\$357,000.00	\$174.00	\$207,060.00
17	407	TACK COAT	612	GAL	\$9.00	\$5,508.00	\$4.00	\$2,448.00	\$11.00	\$6,732.00	\$8.00	\$4,896.00	\$3.75	\$2,295.00
18	441	ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 1, (448), PG64-22 (1-1/2")	255	CY	\$285.00	\$72,675.00	\$247.00	\$62,985.00	\$276.00	\$70,380.00	\$385.00	\$98,175.00	\$232.00	\$59,160.00
19	441	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG64-22 FIBER REINFORCED (1-1/2")	255	CY	\$295.00	\$75,225.00	\$288.00	\$73,440.00	\$327.00	\$83,385.00	\$435.00	\$110,925.00	\$287.50	\$73,312.50
20	448*	ASPHALT DRIVEWAY REMOVAL AND REPLACEMENT, AS PER PLAN	50	SY	\$90.00	\$4,500.00	\$105.00	\$5,250.00	\$175.00	\$8,750.00	\$180.00	\$9,000.00	\$147.00	\$7,350.00
21	452	NON-REINFORCED CONCRETE PAVEMENT, MISC.: 7" PLAIN PORTLAND CEMENT CONCRETE DRIVEWAY REMOVAL AND REPLACEMENT. AS PER PLAN	538	SY	\$150.00	\$80,700.00	\$100.00	\$53,800.00	\$150.00	\$80,700.00	\$150.00	\$80,700.00	\$199.50	\$107,331.00
22	608	5" CONCRETE WALK, AS PER PLAN	16,654	SF	\$16.00	\$266,464.00	\$9.00	\$149,886.00	\$12.00	\$199,848.00	\$9.00	\$149,886.00	\$12.10	\$201,513.40
23	608	CURB RAMP WITH DETECTABLE WARNINGS	8	EA	\$1,500.00	\$12,000.00	\$1,500.00	\$12,000.00	\$750.00	\$6,000.00	\$1,150.00	\$9,200.00	\$1,312.00	\$10,496.00
24	609	COMBINATION CURB AND GUTTER, TYPE 3, AS PER PLAN	5,360	LF	\$40.00	\$214,400.00	\$35.00	\$187,600.00	\$45.00	\$241,200.00	\$40.00	\$214,400.00	\$62.75	\$336,340.00
25	611	CONDUIT, 12" TYPE B	381	LF	\$80.00	\$30,480.00	\$120.00	\$45,720.00	\$120.00	\$45,720.00	\$160.00	\$60,960.00	\$205.00	\$78,105.00
26	611*	CONDUIT, 12" TYPE B	200	LF	\$80.00	\$16,000.00	\$120.00	\$24,000.00	\$120.00	\$24,000.00	\$50.00	\$10,000.00	\$199.00	\$39,800.00
27	611*	CONDUIT, 18" TYPE B	200	LF	\$130.00	\$26,000.00	\$130.00	\$26,000.00	\$140.00	\$28,000.00	\$60.00	\$12,000.00	\$334.00	\$66,800.00

\* CONTINGENCY ITEM TO BE USED AT THE ENGINEER'S DIRECTION

### OWNER: VILLAGE OF LINCOLN HEIGHTS

### PROJECT NO.: 220626

## BID OPENING DATE: APRIL 4, 2023 at 10:00 A.M.

					Enginee	r's Estimate	Ford De	velopment	Fred A. Nemann		Prus Construction		Sunesis Construction	
Ref No.	Item No.	Description	Quan.	Unit	Unit Cost Total	Item Cost	Unit Cost Total	Item Total	Unit Cost Total	Item Total	Unit Cost Total	Item Total	Unit Cost Total	Item Total
28	611*	3" CONDUIT, TYPE B, 707.41 (SCHEDULE 40)	100	FT	\$20.00	\$2,000.00	\$10.00	\$1,000.00	\$25.00	\$2,500.00	\$35.00	\$3,500.00	\$148.00	\$14,800.00
29	611*	4" CONDUIT, TYPE B, 707.41 (SCHEDULE 40)	100	FT	\$20.00	\$2,000.00	\$12.00	\$1,200.00	\$25.00	\$2,500.00	\$36.00	\$3,600.00	\$146.00	\$14,600.00
30	611	MANHOLE ADJUSTED TO GRADE, STORM SEWER	10	EA	\$750.00	\$7,500.00	\$250.00	\$2,500.00	\$750.00	\$7,500.00	\$910.00	\$9,100.00	\$2,390.00	\$23,900.00
31	611	CATCH BASIN, NO. 3A, AS PER PLAN	15	EA	\$3,000.00	\$45,000.00	\$7,500.00	\$112,500.00	\$4,000.00	\$60,000.00	\$3,650.00	\$54,750.00	\$4,890.00	\$73,350.00
32	611	CATCH BASIN, NO. 6, AS PER PLAN	2	EA	\$3,000.00	\$6,000.00	\$6,500.00	\$13,000.00	\$4,000.00	\$8,000.00	\$3,775.00	\$7,550.00	\$3,385.00	\$6,770.00
33	611	MANHOLE NO.3	3	EA	\$6,000.00	\$18,000.00	\$9,500.00	\$28,500.00	\$5,000.00	\$15,000.00	\$8,150.00	\$24,450.00	\$5,405.00	\$16,215.00
34	614	MAINTENANCE OF TRAFFIC	1	LS	\$25,000.00	\$25,000.00	\$150.00	\$150.00	\$0.01	\$0.01	\$325,000.00	\$325,000.00	\$9,240.00	\$9,240.00
35	644	STOP LINE, 24"	175	LF	\$9.00	\$1,575.00	\$10.00	\$1,750.00	\$10.00	\$1,750.00	\$10.19	\$1,783.25	\$16.00	\$2,800.00
36	644	CROSSWALK LINE, 12"	996	LF	\$4.80	\$4,780.80	\$5.00	\$4,980.00	\$5.00	\$4,980.00	\$4.00	\$3,984.00	\$7.25	\$7,221.00
37	644	CENTER LINE 4"	560	FT	\$2.50	\$1,400.00	\$2.00	\$1,120.00	\$2.00	\$1,120.00	\$1.47	\$823.20	\$5.50	\$3,080.00
38	614	MAINTENANCE OF TRAFFIC	1	LS	\$6,500.00	\$6,500.00	\$150.00	\$150.00	\$0.01	\$0.01	\$4,000.00	\$4,000.00	\$5,315.00	\$5,315.00
39	623	CONSTRUCTION LAYOUT STAKES	1	LS	\$6,500.00	\$6,500.00	\$20,000.00	\$20,000.00	\$85,000.00	\$85,000.00	\$20,000.00	\$20,000.00	\$15,100.00	\$15,100.00
40	630*	SIGN, FLAT SHEET	20	SF	\$30.00	\$600.00	\$40.00	\$800.00	\$40.00	\$800.00	\$40.45	\$809.00	\$61.00	\$1,220.00
41	630*	GROUND MOUNTED SUPPORT, NO. 3 POST	50	LF	\$12.50	\$625.00	\$22.00	\$1,100.00	\$20.00	\$1,000.00	\$23.00	\$1,150.00	\$26.50	\$1,325.00
42	630*	REMOVAL OF GROUND MOUNTED SIGN AND REERECTION	2	EA	\$75.00	\$150.00	\$80.00	\$160.00	\$200.00	\$400.00	\$84.00	\$168.00	\$79.00	\$158.00
43	659	SEEDING, MISC.: TEMPORARY SEEDING	1	LS	\$1,500.00	\$1,500.00	\$100.00	\$100.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$19,250.00	\$19,250.00
44	659	SEEDING, MISC.: PERMANENT RESTORATION	1	LS	\$8,000.00	\$8,000.00	\$10,000.00	\$10,000.00	\$60,000.00	\$60,000.00	\$11,500.00	\$11,500.00	\$62,465.00	\$62,465.00
45	SPL*	MANHOLE ADJUSTED TO GRADE, WATER	1	EA	\$845.00	\$845.00	\$150.00	\$150.00	\$600.00	\$600.00	\$785.00	\$785.00	\$2,175.00	\$2,175.00
46	SPL*	MANHOLE ADJUSTED TO GRADE, SANITARY SEWER MANHOLE ADJUSTED TO GRADE; AS PER PLAN; LABOR AND MATERIAL	6	EA	\$845.00	\$5,070.00	\$150.00	\$900.00	\$650.00	\$3,900.00	\$1,000.00	\$6,000.00	\$2,160.00	\$12,960.00
47	SPL*	MANHOLE REPAIRED AND ADJUSTED TO GRADE, SANITARY MANHOLE. AS PER PLAN: LABOR AND MATERIAL	2	EA	\$1,700.00	\$3,400.00	\$500.00	\$1,000.00	\$1,000.00	\$2,000.00	\$1,450.00	\$2,900.00	\$2,160.00	\$4,320.00
48	SPL*	BRICK MASONRY MANHOLE REPAIR, SANITARY SEWER MANHOLE, AS PER PLAN; LABOR AND MATERIAL	2	EA	\$1,700.00	\$3,400.00	\$750.00	\$1,500.00	\$1,000.00	\$2,000.00	\$3,700.00	\$7,400.00	\$2,965.00	\$5,930.00
49	690	SPECIAL - PROJECT SIGNAGE	1	LS	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$2,000.00	\$2,000.00	\$1,600.00	\$1,600.00	\$1,005.00	\$1,005.00
50	SPL*	EX STORM PIPE CLEANING	1	LS	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$35,000.00	\$35,000.00	\$5,000.00	\$5,000.00	\$60,700.00	\$60,700.00
		SUBTOTAL - CHAMBERLAIN AVENUE				\$1,519,635.30		\$1,621,017.00		\$1,799,765.02		\$2,189,199.45		\$2,731,195.60

### OWNER: VILLAGE OF LINCOLN HEIGHTS

### PROJECT NO.: 220626

## BID OPENING DATE: APRIL 4, 2023 at 10:00 A.M.

		Description			Engineer's Estimate		Ford Dev	velopment	Fred A. N	emann	Prus Construction		Sunesis C	Construction
Ref No.	Item No.		Quan.	Unit	Unit Cost Total	Item Cost	Unit Cost Total	Item Total						
110.	INO.				rotar	ROITI COST	Total	itom rotal	Total	nom rotal	Total	itom rotar	Total	nom rotal
		DOUGLAS STREET												
51	202	CLEARING AND GRUBBING	1	LS	\$1,000.00	\$1,000.00	\$100.00	\$100.00	\$1,000.00	\$1,000.00	\$4,700.00	\$4,700.00	\$11,800.00	\$11,800.00
52	202	INLET REMOVED	2	EA	\$600.00	\$1,200.00	\$25.00	\$50.00	\$500.00	\$1,000.00	\$550.00	\$1,100.00	\$1,110.00	\$2,220.00
53	202*	PIPE REMOVED, 24" AND UNDER	25	FT	\$25.00	\$625.00	\$1.00	\$25.00	\$15.00	\$375.00	\$30.00	\$750.00	\$25.50	\$637.50
54	202	CURB REMOVED	924	FT	\$5.00	\$4,620.00	\$2.00	\$1,848.00	\$9.00	\$8,316.00	\$11.00	\$10,164.00	\$9.80	\$9,055.20
55	202	WALK REMOVED	2,967	SF	\$2.50	\$7,417.50	\$0.50	\$1,483.50	\$3.00	\$8,901.00	\$3.85	\$11,422.95	\$2.20	\$6,527.40
56	202	REMOVE CONCRETE BLOCKOUT AT INLET AND REPLACE WITH 8" 301	4	EA	\$1,000.00	\$4,000.00	\$25.00	\$100.00	\$500.00	\$2,000.00	\$500.00	\$2,000.00	\$488.00	\$1,952.00
57	202	PAVEMENT REMOVED, AS PER PLAN	1,030	SY	\$12.00	\$12,360.00	\$67.00	\$69,010.00	\$23.60	\$24,308.00	\$18.00	\$18,540.00	\$29.50	\$30,385.00
58	204	SUBGRADE COMPACTION	1,030	SY	\$2.50	\$2,575.00	\$1.00	\$1,030.00	\$10.00	\$10,300.00	\$3.00	\$3,090.00	\$8.50	\$8,755.00
59	204	PROOFROLLING	4	HR	\$250.00	\$1,000.00	\$50.00	\$200.00	\$200.00	\$800.00	\$110.00	\$440.00	\$306.00	\$1,224.00
60	204*	SUBGRADE STABILIZATION WITH GEOGRID AND GRANULAR (1' DEEP)	400	SY	\$6.50	\$2,600.00	\$30.00	\$12,000.00	\$15.00	\$6,000.00	\$50.00	\$20,000.00	\$84.25	\$33,700.00
61	204*	CEMENT STABILIZED SUBGRADE, (12 INCHES DEEP)	515	SY	\$4.50	\$2,317.50	\$10.00	\$5,150.00	\$15.00	\$7,725.00	\$60.00	\$30,900.00	\$180.50	\$92,957.50
62	253*	SUBGRADE REPAIR, MISC.: SLAG STABILIZATION, INCLUDING REMOVAL OF UNCLASSIFIED MATERIAL AND CHOKE WITH 3" - 304	25	CY	\$150.00	\$3,750.00	\$90.00	\$2,250.00	\$100.00	\$2,500.00	\$170.00	\$4,250.00	\$252.00	\$6,300.00
63	301	7" ASPHALT BASE	198	CY	\$225.00	\$44,550.00	\$167.00	\$33,066.00	\$223.00	\$44,154.00	\$300.00	\$59,400.00	\$179.00	\$35,442.00
64	407	TACK COAT	102	GAL	\$9.00	\$918.00	\$4.00	\$408.00	\$11.00	\$1,122.00	\$8.00	\$816.00	\$3.75	\$382.50
65	441	ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 1, (448), PG64-22 (1-1/2")	42	CY	\$285.00	\$11,970.00	\$247.00	\$10,374.00	\$276.00	\$11,592.00	\$385.00	\$16,170.00	\$234.00	\$9,828.00
66	441	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG64-22 FIBER REINFORCED (1-1/2")	42	CY	\$320.00	\$13,440.00	\$288.00	\$12,096.00	\$327.00	\$13,734.00	\$435.00	\$18,270.00	\$284.00	\$11,928.00
67	448*	ASPHALT DRIVEWAY REMOVAL AND REPLACEMENT, AS PER PLAN	10	SY	\$90.00	\$900.00	\$105.00	\$1,050.00	\$175.00	\$1,750.00	\$190.00	\$1,900.00	\$190.00	\$1,900.00
68	452	NON-REINFORCED CONCRETE PAVEMENT, MISC.: 7" PLAIN PORTLAND CEMENT CONCRETE DRIVEWAY REMOVAL AND REPLACEMENT, AS PER PLAN	32	SY	\$150.00	\$4,800.00	\$100.00	\$3,200.00	\$150.00	\$4,800.00	\$160.00	\$5,120.00	\$206.50	\$6,608.00
69	608	5" CONCRETE WALK, AS PER PLAN	2,967	SF	\$16.00	\$47,472.00	\$9.00	\$26,703.00	\$12.00	\$35,604.00	\$9.50	\$28,186.50	\$11.50	\$34,120.50
70	608	CURB RAMP WITH DETECTABLE WARNINGS	4	EA	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00	\$750.00	\$3,000.00	\$1,150.00	\$4,600.00	\$1,310.00	\$5,240.00
71	609	CURB & GUTTER, TYPE 3, AS PER PLAN	924	LF	\$40.00	\$36,960.00	\$35.00	\$32,340.00	\$45.00	\$41,580.00	\$40.00	\$36,960.00	\$62.90	\$58,119.60
72	611*	CONDUIT, 12"	25	LF	\$80.00	\$2,000.00	\$120.00	\$3,000.00	\$120.00	\$3,000.00	\$150.00	\$3,750.00	\$182.00	\$4,550.00
73	611*	INLET RECONSTRUCTED TO GRADE	1	EA	\$3,000.00	\$3,000.00	\$100.00	\$100.00	\$2,500.00	\$2,500.00	\$2,400.00	\$2,400.00	\$3,040.00	\$3,040.00
74	611	CATCH BASIN, NO. 3A, AS PER PLAN	1	EA	\$3,000.00	\$3,000.00	\$7,500.00	\$7,500.00	\$4,000.00	\$4,000.00	\$4,100.00	\$4,100.00	\$5,260.00	\$5,260.00
75	611	CATCH BASIN, NO. 3, AS PER PLAN	3	EA	\$4,500.00	\$13,500.00	\$8,500.00	\$25,500.00	\$5,000.00	\$15,000.00	\$4,950.00	\$14,850.00	\$5,600.00	\$16,800.00

### OWNER: VILLAGE OF LINCOLN HEIGHTS

### PROJECT NO.: 220626

## BID OPENING DATE: APRIL 4, 2023 at 10:00 A.M.

					,	Engineer's Estimate		velopment	Fred A. Nemann		Prus Construction		Sunesis Construction	
Ref No.	Item No.		Unit	Unit Cost Total	Item Cost	Unit Cost Total	Item Total	Unit Cost Total	Item Total	Unit Cost Total	Item Total	Unit Cost Total	Item Total	
76	644	STOP LINE, 24"	24	LF	\$9.00	\$216.00	\$10.00	\$240.00	\$10.00	\$240.00	\$10.20	\$244.80	\$15.50	\$372.00
77	644	CROSSWALK LINE, 12"	150	LF	\$4.80	\$720.00	\$5.00	\$750.00	\$5.00	\$750.00	\$4.00	\$600.00	\$7.15	\$1,072.50
78	644	CENTER LINE 4*	80	LF	\$2.50	\$200.00	\$2.00	\$160.00	\$2.00	\$160.00	\$1.50	\$120.00	\$5.00	\$400.00
79	614	MAINTENANCE OF TRAFFIC	1	LS	\$1,300.00	\$1,300.00	\$100.00	\$100.00	\$0.01	\$0.01	\$15,000.00	\$15,000.00	\$17,500.00	\$17,500.00
80	623	CONSTRUCTION LAYOUT STAKES	1	LS	\$1,000.00	\$1,000.00	\$10,000.00	\$10,000.00	\$3,000.00	\$3,000.00	\$2,675.00	\$2,675.00	\$5,185.00	\$5,185.00
81	659	SEEDING, MISC.: TEMPORARY SEEDING	1	LS	\$500.00	\$500.00	\$100.00	\$100.00	\$1,000.00	\$1,000.00	\$1,250.00	\$1,250.00	\$2,420.00	\$2,420.00
82	659	SEEDING, MISC.: PERMANENT RESTORATION	1	LS	\$2,000.00	\$2,000.00	\$8,000.00	\$8,000.00	\$4,000.00	\$4,000.00	\$3,200.00	\$3,200.00	\$15,800.00	\$15,800.00
		SUBTOTAL - DOUGLAS STREET				\$237,911.00		\$273,933.50		\$264,211.01		\$326,969.25		\$441,481.70
		GCWW												
83	1101	FURNISHING AND LAYING 6" DUCTILE IRON PIPE AND FITTINGS	172	LF	\$350.00	\$60,200.00	\$195.00	\$33,540.00	\$185.00	\$31,820.00	\$285.00	\$49,020.00	\$346.00	\$59,512.00
84	1101	FURNISHING AND LAYING 8" DUCTILE IRON PIPE AND FITTINGS	2,861	LF	\$300.00	\$858,300.00	\$209.00	\$597,949.00	\$185.00	\$529,285.00	\$200.00	\$572,200.00	\$305.50	\$874,035.50
85	1106	FURNISHING AND INSTALLING 3-1/2" THICK FOAMGLAS INSULATION	21	LF	\$40.00	\$840.00	\$80.00	\$1,680.00	\$200.00	\$4,200.00	\$205.00	\$4,305.00	\$99.00	\$2,079.00
86	1108	FURNISHING AND INSTALLING 16" STEEL CASING	14	LF	\$350.00	\$4,900.00	\$100.00	\$1,400.00	\$150.00	\$2,100.00	\$225.00	\$3,150.00	\$181.00	\$2,534.00
87	1108	FURNISHING AND INSTALLING 18" STEEL CASING	17	LF	\$350.00	\$5,950.00	\$105.00	\$1,785.00	\$150.00	\$2,550.00	\$235.00	\$3,995.00	\$206.00	\$3,502.00
88	1110	CONCRETE, CLASS "C"	38	CY	\$140.00	\$5,320.00	\$1.00	\$38.00	\$0.01	\$0.38	\$50.00	\$1,900.00	\$368.00	\$13,984.00
89	1112	HAULING AND INSTALLING FIRE HYDRANT	5	EA	\$1,500.00	\$7,500.00	\$5,500.00	\$27,500.00	\$1,000.00	\$5,000.00	\$1,500.00	\$7,500.00	\$1,640.00	\$8,200.00
90	1113	RELOCATING EXISTING FIRE HYDRANT	4	EA	\$2,000.00	\$8,000.00	\$6,500.00	\$26,000.00	\$2,000.00	\$8,000.00	\$3,100.00	\$12,400.00	\$2,740.00	\$10,960.00
91	1115	FURNISHING AND INSTALLING FIRE HYDRANT EXTENSION, 6"	3	EA	\$500.00	\$1,500.00	\$765.00	\$2,295.00	\$300.00	\$900.00	\$370.00	\$1,110.00	\$2,430.00	\$7,290.00
92	1115	FURNISHING AND INSTALLING FIRE HYDRANT EXTENSION, 18"	6	EA	\$700.00	\$4,200.00	\$1,015.00	\$6,090.00	\$400.00	\$2,400.00	\$495.00	\$2,970.00	\$2,860.00	\$17,160.00
93	1116	FURNISHING AND INSTALLING VALVE BOX COMPLETE	12	EA	\$250.00	\$3,000.00	\$300.00	\$3,600.00	\$300.00	\$3,600.00	\$360.00	\$4,320.00	\$3,230.00	\$38,760.00
94	1116	FURNISHING AND INSTALLING VALVE BOX WITH 1" AIR RELEASE	8	EA	\$650.00	\$5,200.00	\$500.00	\$4,000.00	\$700.00	\$5,600.00	\$885.00	\$7,080.00	\$2,250.00	\$18,000.00
95	1119*	ADDITIONAL EXCAVATION	5	CY	\$60.00	\$300.00	\$5.00	\$25.00	\$0.01	\$0.05	\$20.00	\$100.00	\$138.00	\$690.00
96	1120*	EXPLORATORY EXCAVATION	5	CY	\$75.00	\$375.00	\$5.00	\$25.00	\$0.01	\$0.05	\$20.00	\$100.00	\$78.00	\$390.00
97	1122	REMOVING EXISTING VALVE BOX	6	EA	\$100.00	\$600.00	\$10.00	\$60.00	\$200.00	\$1,200.00	\$410.00	\$2,460.00	\$209.00	\$1,254.00
98	1123*	CHANGING 8" AND UNDER PIPE SEWER	25	LF	\$75.00	\$1,875.00	\$2.00	\$50.00	\$0.01	\$0.25	\$10.00	\$250.00	\$148.00	\$3,700.00
99	1123*	CHANGING 10" THRU 24" PIPE SEWER	25	LF	\$85.00	\$2,125.00	\$4.00	\$100.00	\$0.01	\$0.25	\$15.00	\$375.00	\$290.00	\$7,250.00

### OWNER: VILLAGE OF LINCOLN HEIGHTS

### PROJECT NO.: 220626

## BID OPENING DATE: APRIL 4, 2023 at 10:00 A.M.

				Unit	Engineer's Estimate		Ford Development		Fred A. Nemann		Prus Construction		Sunesis Construction	
Ref No.		Description	Quan.		Unit Cost Total	Item Cost	Unit Cost Total	Item Total	Unit Cost Total	Item Total	Unit Cost Total	Item Total	Unit Cost Total	Item Total
100	1126	FURNISHING AND INSTALLING 3/4" COPPER SERVICE PIPE W/ AQUA SHIELD	719	LF	\$45.00	\$32,355.00	\$50.00	\$35,950.00	\$40.00	\$28,760.00	\$118.00	\$84,842.00	\$141.00	\$101,379.00
101	1126	FURNISHING AND INSTALLING 1" COPPER SERVICE PIPE W/ AQUA SHIELD	21	LF	\$61.00	\$1,281.00	\$60.00	\$1,260.00	\$100.00	\$2,100.00	\$160.00	\$3,360.00	\$142.00	\$2,982.00
102	1128	RECONNECTING EXISTING 3/4" SERVICE BRANCH	31	EA	\$400.00	\$12,400.00	\$1,000.00	\$31,000.00	\$750.00	\$23,250.00	\$1,325.00	\$41,075.00	\$2,215.00	\$68,665.00
103	1131	RECONNECTING EXISTING 1-1/2" SERVICE BRANCH	1	EA	\$500.00	\$500.00	1,250.00	\$1,250.00	2,000.00	\$2,000.00	1,650.00	\$1,650.00	3,025.00	\$3,025.00
104	1131*	FURNISHING AND INSTALLING CURB AND ROADWAY BOX (RENEW)	35	EA	\$75.00	\$2,625.00	\$200.00	\$7,000.00	\$2,000.00	\$70,000.00	\$195.00	\$6,825.00	\$1,005.00	\$35,175.00
105	1131*	FURNISHING AND INSTALLING CURB AND ROADWAY BOX	25	EA	\$270.00	\$6,750.00	\$100.00	\$2,500.00	\$500.00	\$12,500.00	\$205.00	\$5,125.00	\$1,315.00	\$32,875.00
106	1138*	REMOVING CURB AND ROADWAY BOX	20	EA	\$125.00	\$2,500.00	\$10.00	\$200.00	\$300.00	\$6,000.00	\$150.00	\$3,000.00	\$430.00	\$8,600.00
107	509	REINFORCING STEEL	5,534	FT	\$1.00	\$5,534.00	\$0.10	\$553.40	\$0.01	\$55.34	\$0.10	\$553.40	\$3.30	\$18,262.20
108	602*	BRICK MASONRY	1	CY	\$210.00	\$210.00	\$50.00	\$50.00	\$0.01	\$0.01	\$100.00	\$100.00	\$970.00	\$970.00
109	627*	SHEETING AND BRACING ORDERED LEFT IN PLACE	1	MFBM	\$300.00	\$300.00	\$10.00	\$10.00	\$0.01	\$0.01	\$100.00	\$100.00	\$2.00	\$2.00
		SUBTOTAL - GCWW				\$1,034,640.00		\$785,910.40		\$741,321.34		\$819,865.40		\$1,341,235.70
		TOTAL PROJECT				\$2,792,186.30		\$2,680,860.90		\$2,805,297.37		\$3,336,034.10		\$4,513,913.00